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Jlzt: A A 2A 1 S22 A A
i Y 2l
el XN =72 EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
AP A 183,024,459 170,026,555 12,997,904
= 32,782,169
s 8,062,450
| 1,316,597
N 1,384,401
= 139,478,842
SE22CIAIE A 21,286,893 19,424,388 1,862,505
s 1,000,000
N 700,000
s 19,586,893
s 22| 16,084,000 13,895,247 2,188,753
= 1,000,000
N 700,000
= 14,384,000
NgE 722 15,111,461 13,143,397 1,968,064
= 1,000,000
N 700,000
= 13,411,461
SZAHK SUUENSE FY| 2,000,000 1,500,000 500,000
s 1,000,000
= 1,000,000
401 AIEHIZL 28I 2,000,000 1,500,000 500,000
= 1,000,000
& 1,000,000
01 Al&HI 1,992,800 1,494,600 498,200
O=Z AKX SA/AEX S EH| 1,992,800
s 9%,400
& 99%,400
03 AIE 2 CHHI 7,200 5,400 1,800
SZEAA SUAFKSE FH| 7,200
s 3,600
& 3,600
bt~ S22 FH| 500,000 500,000
401 AIEHIZL 28I 500,000 500,000
01 Al&Hl 496,400 496,400
Ot~ =2&=2 &l 496,400
03 Al S CHYI 3,600 3,600 0
Ot~ 2=E2 FH| 3,600
HEL2E HZAIE =Rl 70,000 70,000
401 Al&HIZ 20| 70,000 70,000
01 Al&HI 69,400 69,400
OHIE2E MZAIE sXl2ta] 69,400
03 AIE =2 CHHI 600 600 0
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el XN =72 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
03 Al 20HHI 4,000 3,780 220
O=Zaxt etEAIE &X 4,000
NLe 22 1,600,000 1,350,000 250,000
401 AlEHIYL L THYI 1,600,000 1,350,000 250,000
01 Al&HI 1,592,000 1,345,140 246,860
OXgE RAL= 1,592,000
03 Al 20HHI 8,000 4,860 3,140
OXge RXE+ 8,000
WSAD &2 2 N (HEALY) 840,000 200,000 640,000
401 Al&BIL LY 840,000 200,000 640,000
01 Al£ZHI 834,708 198,600 636,108
OusSAtl #2322 e 834,708
03 A2 2 0HYI 5,292 1,400 3,82
OusSAtLl #2322 e 5,292
nsSH AL | 400,000 400,000
401 AlEHIYL S THYI 400,000 400,000 0
01 Al&HI 397,480 397,120 360
OuSHE ASAIE FHl 397,480
03 Al 20HHI 2,520 2,880 2360
OusSHE ASAIE FHl 2,520
LOISS A JHEAISE (HEALR) 960,000 70,000 890,000
401 AlEBIYL S THYI 960,000 70,000 890,000
01 AlZHI 955,000 69,400 835,600
OL257% JHE ALY 955,000
03 Al R0HHI 5,000 600 4,400
OLQIE2S 7 HEAY 5,000
HElol 2579 HHAS (HEALY) 300,000 300,000 0
401 AlZBIL S THYI 300,000 300,000 0
01 AlZHI 297,840 298,000 2160
Ol B579 HH ALY 297,840
03 Al 20HHI 2,160 2,000 160
ONglol BE5+9 ALY 2,160
HE & XotiE |2l 1,348,919 1,422,919 AT4,000
201 eer23y| 507,919 507,919 0
02 S3=gHl 507,919 507,919 0
OMIIZ(HE, XIStAE, ZLIARA S) 318,283
O=AIXRE 323,00V, 2MES 63,144
O&J|, Sl A== 2 43,637
O8Il & 2ZAIE EIlaM=E 7,500
OHY, Xotite Lazel(FEa ¥ =4) 42,350
OHE ¥ XIotxitE AL E| 33,000
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el XN =72 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
401 Al&BIL S CHYI 841,000 915,000 AT4,000
01 Al£HI 837,000 910,086 173,086
OHE HJINE 282289 € B 837,000
03 Al R0HbI 4,000 4,914 A914
OHZ HIINE 2g2c89 € B 4,000
wg S AES B389 & B+ 1,838,000 1,574,000 264,000
401 AlEHIZL 20 1,838,000 1,574,000 264,000
01 Al&ZHI 1,832,000 1,568,400 263,600
Oug S ANEE 889 & E+3AM 1,832,000
03 Al 20HHI 6,000 5,600 400
Oug s ANE=E Ed8EY & E23A 6,000
Sug fA2el 100,400 116,100 A15,700
201 er=23| 17,400 22,100 24,700
02 S3=4gHl 17,400 22,100 24,700
OS=ng(Uatiw) dJ,88 8 17,400
401 AlEHIYL S THYI 83,000 94,000 211,000
01 Al&HI 83,000 94,000 A11,000
OS=+=1ug Sz 83,000
SOINSHEEH S XM (HEAIY) 400,000 0 400,000
401 Al&BIL LY 400,000 400,000
01 AlEZHI 397,120 397,120
ORWSHEHH S EXA 397,120
03 Al 2 CHYI 2,880 0 2,880
ORQAUSHEHH S XA 2,880
SIFNIZ EXIAS (HEAY) 280,000 0 280,000
401 AlEHIYL 2 THYI 280,000 280,000
01 Al&HI 278,000 278,000
O3lduxtZ ZXIAY 278,000
03 Al 20HHI 2,000 0 2,000
O3l ™Itz ZXIAY 2,000
SELHEAl Fy| 500,000 0 500,000
e 500,000
401 AlZBIL S CHY] 500,000 0 500,000
E 500,000
01 Al&HI 496,400 0 496,400
OEZ-HHEAl FHI 496,400
e 496,400
03 Al SR0HYI 3,600 0 3,600
OEZ:-HHAl FHI 3,600
e 3,600
AEEHl |2 926,259 606,925 319,334
Xz 2 &H |X2e 726,259 545,925 180,334
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JIZ: AME A 2N @ E22e| A A
M X 22|
ol AESA SE & BAAE (SH9 H2)
AR .2 BB (A - MSAY - B2 ofl vy aET HD=2
a=-FA -85 o 8= = ofl &b =
202 04b| 18,000 18,000
01 2L Y| 18,000 18,000
OAHEBAF SE AIE 04| 18,000
207 AP IHEH] 8,000 8,050 AB0
03 AlE 32| 8,000 8,050 AB0
o224 JIAM 2| 8,000
HMSAAH|(E222IAFH A) 5,161,393 5,487,641 N326,248
ol 2| 4,972,161 5,293,947 A321,786
ol AHH| 4,972,161 5,293,947 A321,786
101 Q124d| 4,628,969 4,962,953 A333,984
01 B2 2,311,669 2,704,437 N392,768
oJlea 1,662,009
-AESH 462,617
43 (AE) 99,556,680 & x2H 199,114
=1 87,834, 120&*3H 263,503
—dgtx 1,199,392
=1 50,413,536& * 10 504,136
= 36,816,684& x13H 478,617
= 24,660,603 *6H 147,966
= 22,890, 7203 x3H 63,673
(OFS = 88,628
O HE 88,922
-y 25,440
- B X 40,0002 *29Y » 12 13,920
0 PE] 20,000& * 129+ 12& 2,880
- S M 60,0003 x7Hx 128 5,040
AT Ol XA 100,000& 1 x 128 1,200
JERDE 20,000&*10Y~12& 2,400
-dI2FYOHZ2 26,160
- 25E 0| A 130,000 7Y =128 10,920
- 200 A 110,000& 3 x 128 3,960
15380 & 80,0003 x4 122 3,840
10 0] &F 60,0003 x2H * 122 1,440
5E0| A 50,000&*10Y9 ~12& 6,000
-SRI 11,882
UHLX 11,882
=1 7,671,000&*1Ex12& %4 . 1% 3,775
6= 4,299,000&*3H 122 *4 . 1% 6,346
= 3,578,000& x 1H 122 x4 . 1% 1,761
-Jl=d8Y 10,320
=3 50,0003 x 1 =122 600
=1 30,000& x21H *x12& 7,560
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Jlz: AlgiA SN SRBRIAYA
Hu: SN A (SRR2IAYL)
ool ol CERED
YT RN BY . O9(3) - HRAY - BES o &r A HIDS2
892 20,0002 9% 122 2,160
—IIEHBAYINE 5,520
JIA 30,00020+102 128 3,600
NEBIY, 20,0002 +32 122 720
2(8,93) 20,0002 5% 122 1,200
-fIE2RLY(SS)
50,0002 152« 128 9,000
-2UBRALY 50,0002 1212 600
OSotEN+g 1,500, 00024 +2% 12 3,000
OESELER 210,966
S EERSE 184,431
- Mol bl HlaaR(TE 22l 26,535
OFAZAH| 140,00021%36% + 1224 60,480
OYEFIM|
1,199,369, 000!/ 128 x60%+23] 119,937
Ot b2 A 44,727
- o= 10,345
- 23X 34,382
03 BRH(RI|H) 2224 2,317,300 2,258,516 58,784
Otz 2a8s 92,943
-J1=3 2,802,858 +2% 12 67,269
- HYORIELRELY
15,9802 %224 * 15A| 2+ 122 150% 8,603
b 15,9304 +8AI 24+ 1524225 3,824
kB 2,802, 85221 6006251 22 6.727
R 50,0002 +2% 12 1,200
LR 140,000 %224 1228 3,360
-JiEey 960
X E 40,0002 +12 128 480
JIEDHS 20,0002 2% 122 480
-2s4g 1,000
OEZRE4ABL 2,204,357
-J1=3 3,749, 26021%36 %+ 122 1,619,682
-o1F 0R FY224Y
21, 13021150+ 15A| 24+ 122 %362 206,384
—oiRteg 21, 130148 AI 2h 1524362 91,282
CEEIL 3,749, 262600251 +362 161,969
LI 50,0002 122 +37% 22,200
-JiEey 28,560
X 40,00021%26% 122 12,480
e OVE 20,0002 152+ 128 3,600
L SRR 60, 000292 122 6,480
L0 EPE 100,000 x324 x 128 3,600
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D12 A A SA  E2E2IAA
MM HNMS2AAH((SRZEIAIEA)
=91: Jl=3dl (EH9): ®2)
A2 24 - 3H - () - HRAY - BES Ol &y Oaﬂgi Hnsz
- A2 KXl 17,000
-22LHY Ol AL 6,000
202 04t 33,300 37,000 A3,700
01 201t 33,300 37,000 A3,700
OJ|=201Hl 33,300
203 P2 E=ZIY| 13,840 13,840
01 J| 2 2H A=A 3,300 3,300
OAZ 3,300
0P HRAIMAH DAY 1,480 1,480 0
O=AD T ZY] 1,480
M SANRHALTAIY 9,060 9,060 0
O#X XAt 2,100
oczze|n 6,960
204 DR AY| 7,200 7,200
01 AMZALLHAY| 7,200 7,200
043 (2 F) 4,800
OS5 (&) 2,400
HRE=(E222IAIGA) 41,500 41,500 0
LHEANKI = 41,500 41,500 0
LI HRHXI= 41,500 41,500 0
705 Ol =2l S48 41,500 41,500 0
04 Al + SXISIHL DI S04=S 01 KHAH & 41,500 41,500 0
OS LI aH= TP AN (2020) 41,500

_10_




H & 0l & AHS B Ml A

20238 =0ila LEHSIH At A

Jlets AHE A A E2ZEMTASEREN A
i XY 2t
el XN =72 EER=E)
AR .2 - HH . l:}.<,>_|(§|j1|) + NIEAIY - HA S Of| AFOH SEE Hnz=2
SErTArSRt T == B Ofl r =e
EE22HEAMS AR L 20,593,352 13,212,787 7,380,565
s 2,335,000
e 684,401
& 17,573,951
NgE 2t 17,957,563 10,888,839 7,008,724
Fas 2,335,000
EN 684,401
s 14,938, 162
e sX2el 17,225,114 10,454,474 6,770,640
s 2,335,000
e 684,401
T 14,205,713
SZ A SULE XS EH| 4,670,000 3,800,000 870,000
s 2,335,000
s 2,335,000
401 AIEHIZL 28I 4,670,000 3,800,000 870,000
s 2,335,000
= 2,335,000
01 AlIZHI 4,657,400 3,789,740 867,660
O=ZAMA S1/AEXSE FH| 4,657,400
s 2,328,700
= 2,328,700
03 AIZ 2 0HHI 12,600 10,260 2,340
OSZ AKX SAAEX S FH| 12,600
s 6,300
s 6,300
wWSHM AL FH 660,000 320,000 340,000
401 AIEHIZL 28I 660,000 320,000 340,000
01 AlIZHI 656,000 317,700 338,300
Ousod AL FH| 656,000
03 AIE SR 0HHI 4,000 2,300 1,700
OunEotd A4 El 4,000
e ZHE B 600,000 400,000 200,000
401 Al&HIZ 20| 600,000 400,000 200,000
01 AIZHI 595,700 397,200 198,500
L ZEE B 595,700
03 Al< = THHI 4,300 2,800 1,500
OokL: XL B 4,300
bt~ S22 FH| 650,000 270,000 380,000
401 AIEHIZ 2018 650,000 270,000 380,000
01 Al&Hl 645,400 268,100 377,300
Ot~ =2&=2 &l 645,400
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Jl2 AR A 2A ¢ E22ALIAGASRR A
g XL 212
el YT =X2 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
03 AIZ20HYI 4,600 1,900 2,700
Ot =2g==2 4| 4,600
WAL Y & 2252+ 530,000 430,000 100,000
401 AIEHIL 20| 530,000 430,000 100,000
01 Al&HI 527,000 427,000 100,000
OuSAtD o € 252+ 527,000
03 Al 20HHI 3,000 3,000 0
OUSALD o & 21824 3,000
S XA 630,000 470,000 210,000
401 AIEHIZL 20| 630,000 470,000 210,000
01 Al&HI 675,200 466,700 208,500
OBSEXIAY 675,200
03 AIZ=0HHI 4,800 3,300 1,500
S AR 4,800
e FA2el & Ha7Y 444,668 438,858 5,810
101 1A 37,891 36,016 1,875
M IRtHZZ2SEs 37,891 36,016 1,875
Otz & Nge2E+HY 25 33,960
Odgds 24 160
OHERE3(4UEE) 3,771
201 Zet=Eh] 78,665 77,330 1,335
01 AlR2telHl 35,430 35,430 0
OB y=+SH| 4,000
OB (THOHCHRY) =& 5,100
OSRA (MHolitHz) =&l 5,000
ONHHER H=E & 2% S 2,250
OWAER SEHE 2| 400
O3RA(c2E+Y) 1= 14,900
O3RA(L2E+H) F8AS 74l 840
O3RN (E2E+8) SHAHLAN =28 2,940
2 =523l 43,235 41,900 1,335
O==AINRY dates, IV, 2SS 28,800
OMIIes(HXE & AH0IH) 6,600
OWE = FAl2el 1,500
OUWFDI =2l 2,100
Ou#II 2= 4,235
202 04t 5,000 5,000
01 A 5,000 5,000
OMeHUH & 22+AY 5,000
204 AR A 9,000 8,400 600
03 SELREH 9,000 8,400 600
o=yl 9,000
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Jlzts At A 2M 0 EZ22AIMLASRRA
33 g 2e|
el XN =72 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
206 =8I 300,000 300,000
01 THZ2HI 300,000 300,000
2 B8 M= 10,000
Oonzds B8 Me 25,000
Oxd EME M2 70,000
OuSHEAIE M= 38,000
OTHaH(&ah)th= Wz 137,000
OEES 20,000
301 LEENS 14,112 12,112 2,000
1 SAREIXES 3,512 1,512 2,000
OXgE 23 MN2US SAH| 672
O=2M=dA XIE= 840
OEIZX} AFHAIZ XI&H 2,000
4 IIEt2 83 10,600 10,600 0
OXgE |2l Lok 24 10,000
O0tdsS= AMAMIXCl &0 Hat 600
NYE A2+ 1,700,000 1,146,000 554,000
401 A& BIL S CHY] 1,700,000 1,146,000 554,000
01 AlEZHI 1,694,000 1,141,900 552,100
OXgE SXE+ 1,694,000
03 Al 20HHI 6,000 4,100 1,900
OXgE RXES 6,000
ng S ALS BZES & B 830,000 834,000 24,000
401 AlEBIYL S THYI 830,000 834,000 24,000
01 Al&HI 825,300 829,200 23,900
Oug s ANdsE Z88d & 2= 825,300
03 Al 20HHI 4,700 4,800 2100
Oug s ANds Z889 € 2= 4,700
we s HWALsEIISY 2 WaEY 350,000 50,000 300,000
401 Al&BIL S CHYI 350,000 50,000 300,000
01 AlEZHI 348,000 49,460 298,540
OUdldsEIt & LHAZZSA 348,000
03 Al 2 HHI 2,000 540 1,460
OUdldsE8It & LHASZSA 2,000
Ssug 2e| 121,880 201,640 79,760
201 fer=2 3| 11,880 11,640 240
2 35224l 11,880 11,640 240
03323 8,400
Ostle=s 2,160
ORI ZHIAIAE 1,320
401 AlEBIYL LY 110,000 190,000 280,000
01 Al&HI 110,000 190,000 80,000
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eelr XgE |X2tl EER=E)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T < B Ofl r =e
OAHSAAE RX2E] & HZO0IH 224
=29 110,000
AL AlE 2t 25,637 23,976 1,661
101 @l H| 25,637 23,976 1,661
M JItHI2E2 U SEs 25,637 23,976 1,661
Ott=L2& 23,086
-Jl== 15,513
R PNE= 1,164
- HESIHI 1,552
—ZMZAH| 1,680
—AIRI2I 2R 2,457
-2=5Jht3 240
=t 480
OHERE= 2,551
—4UEE= 2,551
LS SE2l EH| 250,000 200,000 50,000
N 250,000
401 AIEHIZ 2018 250,000 200,000 50,000
EN 250,000
01 Al&HI 248,200 198,560 49,640
OXHLS2E2| I 248,200
EN 248,200
03 AIE 2 CHHI 1,800 1,440 360
OxtgesZEtel i 1,800
N 1,800
S3NEZ Fl 500,000 500,000 0
401 Al&HIZ 20| 500,000 500,000
01 Al&HI 496,400 496,400
O2dNEZ FEH| 496,400
03 AIE =2 CHHI 3,600 3,600 0
OS#HNUEZ FH| 3,600
LOIBS RS INAAI (HEALR) 500,528 70,000 430,528
401 AIEHIZ 2018 500,528 70,000 430,528
01 Al&Hl 496,928 69,400 427,528
OL2ES 7Y HHALS 496,928
03 Al S CHHI 3,600 600 3,000
OL2ES7H HHALS 3,600
T2 ¥ T2 B8 FH| 2,234,401 950,000 1,284,401
N 434,401
= 1,800,000
401 AIEHIZL 28I 2,234,401 950,000 1,284,401
EN 434,401




Jl2 AR A 2A ¢ E22ALIAGASRR A
g XL 212
el YT =X2 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
< 1,800,000
01 Al&HI 2,223,401 943,160 1,280,241
OE2 4 &£29 22 &y 2,223,401
S 434,401
< 1,789,000
03 Al 20HHI 11,000 6,840 4,160
OE2 ¥ 29 22 Fy| 11,000
Oelol 257 HLAIS (HEALY) 210,000 70,000 140,000
401 AIEHIZL 20| 210,000 70,000 140,000
01 Al&ZHI 208,488 69,370 139,118
ONEl0l 2579 HH A 208,488
03 Al R0HHI 1,512 630 882
O0glol 2579 JHE ALY 1,512
A2 PRNLAG (HEAL) 1,668,000 0 1,668,000
401 AlEHIZL 20| 1,668,000 1,668,000
01 AlZHI 1,662,000 1,662,000
ORIEEZ FRINLALY 1,662,000
03 AIZ=CHYI 6,000 0 6,000
ORIEEZ FRMEAMY 6,000
WEAD 2 R NLAI (HEAL) 200,000 0 200,000
401 AIEHIL 20| 200,000 0 200,000
01 Al&HI 198,560 0 198,560
OLSALD 2 2 AL 198,560
03 AIZ = CHYI 1,440 0 1,440
OUSALD 2 2 AL 1,440
PONSHEZH S XA (HEAIY) 400,000 0 400,000
401 AIEHIZL 20| 400,000 0 400,000
01 Al&€HI 397,120 0 397,120
OFuSHEHY S XA 397,120
03 AIZ=0HHI 2,880 0 2,880
OFuSHEHY S XA 2,880
AL T2 732,449 434,365 298,084
Xz 2 ZH X2l 633,449 365,365 268,084
201 ZB=Eh] 633,449 365,365 268,084
01 AlR2telHl 382,436 186,540 195,89%
ON&ER S¥= 700
OLI=H(Z=Z& &gs, odst) 1,800
OMZHY Hi=XclAlE =X 2,000
OXge =Xl &l gx=2 377,936
02 33234l 251,013 178,825 72,183
OZ2Z2ZLHA 16,770
-28= 11,900
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Jlzts At A 2M 0 EZ22AIMLASRRA
g3 g 2e|
el AL 72 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A timE=FT
- HSx 8,400
- AEIH 3,500
-Nsi ZHE F22 200
— NS XA 1,645
=PI NS 865
- RHSXHE AL 540
LI HZ A 325
- SOIZHIAIAE(RXIE) 2,160
OZBR2E a2 & 2=d| 500
- X Ae5US 500
OAlZ &R XId 142,949
— &I, ZHl |XHI(24] 8) 21,552
— &I, HH RFLI(24] 8) 121,397
OXgE B8 &g |Xl2el| 78,79
OASIIAEYl DX S+ 12,000
AIHES 99,000 69,000 30,000
405 AtatE = 99,000 69,000 30,000
01 Tt =S F=H 99,000 69,000 30,000
O15EE MEJI 14,000
O1BbES 41| 55,000
Oxd"stE Xt 30,000
HE2HAL(S22ALIANE LSRN L) 2,635,789 2,323,948 311,841
eI 2 2,559,089 2,252,536 306,553
el 2| 2,559,089 2,252,536 306,553
101 QIAHI 2,364,972 2,100,409 264,563
01 E= 903,357 814,162 89,195
OJlEs 622,066
-5= 6,198, 160& «1H+ 122 74,378
—62 4,073,500 «3H 123 146,646
7= 3,061,080 «8H 122 293,864
-8= 2,353, 1403 «3H« 128 84,714
-9= 1,872,000« 1 x 122 22,464
od2=+g 39,4%
Og2+gitits 11,520
—2540| 4 130,000& « 1~ 128 1,560
- 15014 80,0002 x5 123 4,800
—10=0l& 60,0002 3~ 122 2,160
—54@04t 50,0002 x5~ 12 3,000
otz 1,697
OJ&E=g 14,400
i SN} 40,0002 *11Z+ 128 5,280
P E 20,0002 +8E ~ 122 1,920
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oIz AriA SN SRERINYAZEI A
Hu: HESAAY|(CRRIAIYASRI|A)
cHol: ol o] (el @e)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HIRE2
Y OE 60,0002 624+ 102 4,320
0 I EE 100, 00021 +224* 122 2,400
—JIEPHE 20, 000212 122 480
OfIgaRsY 50, 0002146 * 122 3,600
OJETR2+Y 4,200
-53 50,0002 124+ 102 600
-672 30, 00021483 122 2,880
-8-92 10,0002 462 122 720
OIEFRLYINID 4,920
—JlzAt 50,0002 124+ 102 600
~JIAk 30,0002 524+ 102 1,800
— &I A 20, 0002145 * 122 1,200
- 2(6,72) 10,0002 %3 * 122 360
- 2(8,92) 20,0002 ¥4 122 960
OZN2R4Y 102,445
—Aztel2eay 81,954
~ THaHCHE] Bla2e 20,491
OFAUZA| 140,00021+162 * 122 26,880
S=E-ESI] 54,769
Ot A 17,364
— o= 1,663
-3 16,701
03 ZRE(RI|H %) 2224 1,461,615 1,286,247 175,368
oEzEL 1,190,615
-Jl=a 3,607, 97021 %20 * 122 865,913
—oIE . OF2F BUDRAY
19,9502 ¥ 1500w 15A1 24+ 1274 2 <2024 107,730
—oixiag 47,880
-EESI 8,59
—CHelE S| 50,0002 * 127 24 %202 12,000
—ZougA| 140,00024%20% * 122 33,600
—xELY 40,0002 %5 * 122 2,400
—2a4y 14,340
—otEay 20,160
Y 40,0002+ 16 * 122 7,680
- RS 20,0002 102 * 122 2,400
- SRS 60,0002 +52§* 1224 3,600
PV IESE 100, 00024 *224 » 122 2,400
>l 20,0002 172 * 122 4,080
OZZEAR E1X3 271,000
204 X223 2| 32,580 28,800 3,780
® ZZE x| 3,580 28,800 3,780
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M £

20238 =0ila LEHSIH At A

Jlzts AP A
= NET 22

g2 8 A A

el XN =72 EER=E)
A 2A - ZB . CR(3H) - HIRAY - BAES Ofl Ao Oﬁ]gﬁ HR=2

CR2ACIMSAHR RN 14,625,231 12,078,629 2,546,602
= 2,000,000
& 12,625,231

Xge 2e) 12,136,911 9,590,075 2,546,836
z 2,000,000
< 10,136,911

AL =SR2 11,451,014 9,202,448 2,248,566
= 2,000,000
< 9,451,014

FEEZ RRMH(HEALY) 704,000 2,100,000 A 1,3%,000

401 AlEBIL LY 704,000 2,100,000 A1,3%,000

01 AlZHI 699,600 2,092,440 1,392,840
OfEEz 2ZMA 699,600

03 Al R0HbI 4,400 7,560 A3,160
OfIgez 2ZMA 4,400

SZ A SLEXS ZH| 4,000,000 3,146,000 854,000
z 2,000,000
< 2,000,000

401 A& BIL S THYI 4,000,000 3,146,000 854,000
= 2,000,000
< 2,000,000

01 AlZHI 3,989,200 3,137,506 851,694
OSZAK S2/EX S HAl 3,989,200
= 1,994,600
(= 1,994,600

03 A& S CHYI 10,800 8,4% 2,306
OSZ AN S19EXY F| 10,800
z 5,400
< 5,400

wsSHN AL | 200,000 210,000 10,000

401 Al&BIL STy 200,000 210,000 10,000

01 AlEZHI 198,560 208,500 29,940
OuSHE ASAIE FH 198,560

03 Al 2 HHI 1,440 1,500 260
OuSeH ASAIE FH 1,440

2 XI¥E 25 500,000 450,000 50,000

401 AlEHIYL S THYI 500,000 450,000 50,000

01 Al&ZHI 496,400 446,800 49,600
Ok= 23 B 496,400

03 Al 20HHI 3,600 3,200 400
Ook® ZZE B 3,600

i~ S2=2 | 250,000 270,000 £20,000
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2-

od
i’
o
uJ

-

KIO

Hlw

19,900
A100
30,566
376

376

220,000

20,290
20,290

HE
0l &y

270,000
268,100
1,900
550,000
550,000
546,600
3,400
515,148
7,202
7,202

31,001

156,177

187,178

5,000
5,000

7,800
7,800

Ofl &F2H

1,800
1,800
550,000
3,400
3,400
545,714
7,578
7,578
6,792
32

754
207,468
31,001

250,000
248,200
248,200
550,000
546,600
546,600

4,000
5,100
2,660
760
13,481
5,000
176,467
128,000
26,400

13,200
3,300

5,567
5,000
5,000
5,000
7,800
7,800
7,800

300,000

- B

- 24

£ EH

- SHRAZA) - HRANY - BES
Z FH

k

Fafs]

04 JIZtNZ2 2SS+

03 Al S CHYI

01 A=l
03 Al =2 THHI
01 AlZHI

401 Al HIZL 2018
401 Al HIZL S 0HYI

101

no
-

i

R0
fil

HCH

0

(H<,

2|

01 AFR22lH|
OEZE44
O&I|

A

L <

A0
RO
K]
olJ

Kl

HCH

0l

Oll=J| |=Hl

202 044l

Oull=2l =2l

01 =LA LI

OXH

R0
60

oF

Rr

0

[l

RO
ur

300,000
300,000

25,000
60,000
29,000

300,000

01 M=4l

206 =4l




Jlzk: AP A EA 0 EZZAE AR XA
M YT 2t
2ol Vg |2 (Gt H2)
AR R BB B(3H) - MBAY - BES 0l arey diEx HIRS2
d= - A - R F g . 0l &2 =
QUSHNAIE MHE 71,000
OEZANEE ME 30,000
OMolt#=E ME 65,000
OtNEE 20,000
301 EtENZ 7,968 7,968
11 HAFAHI XA Z 2,368 2,368
OFZE4d ARN= 608
OE2E42 23 HISH AL 760
OE2E 43 EAXF MASAIE 1,000
14 J|EI2 &= 5,600 5,600 0
OXNgE SAl2te| oA 24t 5,000
OO0MMESE AMXIMel Al ZA 600
405 XHAHS S HI 9,900 9,900
01 AL =2 SF S| 9,900 9,900
Osg28 ol=J| 9,900
HY & XoHE S S22 211,300 111,300 100,000
201 LEtEHH| 11,300 11,300 0
02 Bs249H| 11,300 11,300 0
OHY sXizel 11,300
401 AlEHIZL L C0HY] 200,000 100,000 100,000
01 Al&H| 200,000 100,000 100,000
OHY B=3At 200,000
LB JAAID (ESHAIS) 1,380,000 50,000 1,330,000
401 A& HILE0HY] 1,380,000 50,000 1,330,000
01 Al&HI 1,375,100 49,500 1,325,600
LOIBS AN INHAIS 1,375,100
03 A& 20HYI 4,900 500 4,400
LOIBS A AL 4,900
we S AE2E EZ2E9 L B 920,000 800,000 120,000
401 AlEH|IZL L C0HYH] 920,000 800,000 120,000
01 Al&H| 914,000 794,264 119,736
Onyd S ANES BEEaY 4 B 914,000
03 A& 2 0HHI 6,000 5,736 264
Ong S AId2 EE89 4 B4 6,000
W WAAEsEHIIIESE & W2 180,000 500,000 320,000
401 AIEHILE0HY] 180,000 500,000 320,000
01 Al&H| 178,800 496,400 A317,600
Ong WaEsEIIEY & Wa2S 178,800
03 A& 20| 1,200 3,600 N2,400
Oug WRHdsEHIIIEdE & HAEL 1,200
SIMNXZEX(NHEAIS) 280,000 0 280,000
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Jlzts At A 2M 0 EZ22AIMEAERRA
33 g 2e|
el XN =72 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Aro A CmE==T
401 AIEHIZL 2 OHY| 280,000 280,000
01 Al£HI 278,000 278,000
Oslduxtz 4xl 278,000
03 AIE S 0HHI 2,000 0 2,000
Os|duxtZ &xl 2,000
UHE0IE2S7Y MHEAIS (HEAIY) 430,000 430,000
401 AIEHIZ S OHLI 430,000 430,000
01 AlZHI 426,904 426,904
O0E0IES 7S A 426,904
03 Al S CHYI 3,09% 0 3,0%
ONeloIEE+Y i ALY 3,09%
i Ys=Ekel i 900,000 500,000 400,000
401 AIEHIZL R OHY| 900,000 500,000 400,000
01 AlZHI 8%4,330 496,400 397,930
Oxtggts=Etel Zhl 8%4,330
03 AIE 2 0HHI 5,670 3,600 2,070
Oxtgg s =Erel &l 5,670
SOINSHEEHl S XM (HEAIY) 400,000 0 400,000
401 AlIEHIZL 2 0HY| 400,000 400,000
01 A&l 397,120 397,120
ORNSHEHH S EXA 397,120
03 Al THHI 2,880 0 2,880
ORAUSHEHH S XA 2,880
A& &8 |X2 685,897 387,627 298,270
i Y HHl |FA2 351,897 277,627 74,270
201 L= 351,897 277,627 74,270
01 AF22t2ltl 193,781 160,760 33,021
OXZE RXl2e| BIZEEH] exts 189,881
OnxsEg S#3t= 400
OLI=SH(ZEH &Y=, orms}) 1,500
ORNIZHE His=HelAld S| 2,000
02 2324l 158,116 116,867 41,249
O332= & HMAl 7,583
-Asit 282 6,500
=PI NSt 783
-XAEE As5US 300
OAEINIAEHH T 20,052
OAEINAEH F=HI 97,366
OXtE& ] 33,115
A& =5 334,000 110,000 224,000
405 KHAHF SH 334,000 110,000 224,000
01 AL S S F SH 334,000 110,000 224,000




Jl2 AR A 2A  E22ALIAGAG R R A
g XL 212
cel: AL FHl |2l EER=E)
A 2N B G(B) - NRAY - BES 0 &y A HIRS
OAgst= 30,000
O=2E+E g AMEY 54,000
O=4| 250,000
HYREHH(C22IAG A G R A) 2,488,320 2,488,554 N234
-] 2,389,125 2,402,139 A13,014
el 2 | 2,389,125 2,402,139 A13,014
101 el24H| 2,218,704 2,266,018 N47,314
01 2= 960,304 1,066,425 106, 121
oJEs 700,578
-5z (A SHI) 6,807,590 «1&* 121 & 81,692
—6= 3,976, 3403 x2E 120 & 95,433
-7= 4,075,6603 6~ 1204 2 293,448
= 2,220, 13037120 & 186,491
-9= 1,813,002 x2& 1201 & 43,514
od2=+¢ 32,325
—140[4 - 24&0|et
1,742, 0002 x5%+23| x 18 175
—5H0[4 - 6402t
2,056, 0002 x25%+23| x2H 2,056
-6E0la - 740(2
2,354, 0002 «30%+22| x 18 1,413
—740[4 - 8AD|gt
2,385, 000& *x35%+22| x2H 3,339
—8H0[4 - 90| 2t
3,140, 0002 +40%+23] « 1 2,512
—9=0[4F - 1040]8t
2,642,000 x45%+22| x38 7,134
— 10014 3,924, 0003 x50%+2 2| x4 15,696
Od2=gitita 10,800
—254 014 130,000+ 1294 & ~14 1,560
-20& Ol&f 110,000+ 1204 2«18 1,320
— 154014 80,000 *12IH& 1< 960
— 10014 60,0002 1271 2 +3& 2,160
—50[ 4 50,0004+ 1204 2 -84 4,800
Olies=a+¢
4,316,0002 %4 1% 1H = 1204 2 2,124
OotE+¢ 8,640
— At 40,0008 *129H &7 3,360
e PE 20,0002+ 1204 2«5 1,200
L PE 60,0002« 1204 24 2,880
- AW 0= XH4
100,000& x12IH & 1< 1,200
AE2ere 50,0008 *127H & 5% 3,000
OJled=E=¢g 3,480
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Il AR A SN CR2URAGALRR A
A HHS2APH((CR2ERIAGALR R L)
el QIEE2E ESR=ED
A 2A - B . HA(SH) - HIRAIY - BES Ofl &kl Oa:lg% Hlns
-53 50,0002+ 1+ 1201 & 600
-63~73 30,0002 6+ 12JH & 2,160
-83~93 20,0002 x3* 1204 & 720
OJI=EEY Ita 3,240
-JIS®E, JIA 30,0002 6% * 12JH & 2,160
— AFATIAL 20,0003« 18 x 1200 & 240
-28A(673) 10,0002 x 181201 2 120
-2FA(892) 20,0002 x3* 1274 &l 720
Ox22+< 91,139
— A2 2R 72,909
— THOHCHHI HIA22 18,230
OFUZAH| 140,000 * 142 x 1224 & 23,520
OHESII 51,573,833 x60%*23] 61,889
OSIItE AH| 19,569
- 226, 9002 78%+86%+ 122 1,827
-23H 1,719, 1272 x86%+ 12 17,742
03 BRE(RI|H ) 2224 1,258,400 1,199,593 58,807
OLzZ243 B4 1,064,240
-J1=3 3,449,796 1201 2+ 19 786,554
—QE O, 52 225Y
19,0702+ 150%+*15A| 2+ 192 * 12JH & 97,830
-Qixteg 19,0704 #8A| 2% 152« 19H 43,480
-YELG 3,449, 7962 x60%+25| « 19 78,656
- o=yl 50,0008 * 127 2+ 19 11,400
—H U A 140,000 *12J 2 19 31,920
-TLY 40,0002 5 * 1201 & 2,400
245G 12,000
OJrEsY 14,160
- =L (WHRK)
40,0002 122+ 120 & 5,760
- ESE(HMIA)
20,0002 x5 * 12J4 &l 1,200
-JIE==Y(EMAH)
60,0002 x72 = 12JH & 5,040
-JIE=<(HM 01F [tH)
100,000+ 1 * 1200 & 1,200
- EZ(IIEDIR)
20,0003 x4G =124 & 960
@luE=IN=r= 180,000
-2 HA22X EIES 180,000
204 MR ASHAY| 28,260 27,180 1,080
02 XZE x| 28,260 27,180 1,080
OXZEZH| 28,260
-5= 250,000+ 1204 21 3,000
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H & 0l & AHS B Ml A

I Ak

O t

2023

od
i’
oF
uJ

-

KIO

Hlw

5,406,629

4,221,438

255,480
117,748
28,133
28,133

87,335

87,313

HMEE
Ofl &k2h

37,345,694
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O&ELl 23 0ol 2,100
OSgEeltdyAZ 23 oYl 3,000
203 LR =&H| 4,000 4,000
03 Al Z=AIHSZXY| 4,000 4,000
OoFEgl g2 4,000
301 LetEEZ 1,800 1,800
11 HALAHIXIE 3 1,800 1,800
OFELU2ZLAS| = 1,800
Y 2IAH(FE 22 L) 4,064,777 3,688,241 376,536
ol 2| 3,985,367 3,606,731 378,636
ol 23| 3,985,367 3,606,731 378,636
101 @124t 3,720,202 3,382,713 337,489
01 2= 1,257,811 1,179,985 77,826
oJ12a 84,125
—EH 275,067
4= 8,270,460 18+ 123 99,246
53 7,325,850@ 2128 175,821
— Bt 619,058
-6 4,136,830 6« 128 297,852
I 3,055, 1602 x6H+ 123 219,972
8= 2,310,4802 2« 12& 55,452
= 1,907,560 x2H 128 45,782
o&EZxd 55,3%
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— A2 2R 95,400
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BN 40,000 *10H 128 4,800
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Ot A 21,932
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- =T
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02 JIEHR 24 449,670 439,664 10,006
JIRBR(U2) 70,844
SRl 55,656
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O25HI012Z2/AKF HRFE 0 4,000
203 =] 7,000 7,000 0
03 A=A 2= 7,000 7,000 0
OL&H0IBe AKX PR 7,000
LEHIOIQMICIZX 7 W 2,735,000 9,630,000 6,895,000
= 1,367,500
== 1,367,500
LEHIOIQUICIZEX? MYE2 AL SA 2,735,000 9,630,000 6,895,000
= 1,367,500
< 1,367,500
403 MR HSAHE01H 2,735,000 9,630,000 26,895,000
[ 1,367,500
= 1,367,500
02 S7I2S0 U H=E 2 E AL 2,735,000 9,630,000 6,895,000
OLEHOIQUCIZA T MUE2 AL SA 2,735,000
[ 1,367,500
= 1,367,500
FF0ZSelA g 7,258,143 14,082,598 A\6,824,455
= 1,573,000
< 5,685,143
0o Z2SclA N 11,000 11,000
202 04t 4,000 4,000
01 =LHOHI 4,000 4,000
OFFU0ZSelA ZEAY HRFA O 4,000
203 =4l 7,000 7,000
03 A= PR FZ| 7,000 7,000
OEFUNHZ22IA ZEAY HRFA 7,000
FF0022clA 2X7 HEX2lAlE AESA 2,247,143 410,000 1,837,143
= 1,573,000
s 674,143
401 AIZHIZ SO 2,247,143 410,000 1,837,143
= 1,573,000
& 674,143
01 Al&H| 2,247,143 410,000 1,837,143
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Il Arga A EFENARASE
M FNARAE Y
&2l EFNHZSClA Y (CHol: &S1)
AT 2A B BR(E) - HRAY - BES 0 &t A blnE2
OFFNHZ=2lA 2K HaHelAld A
SIA 2,247,143
= 1,573,000
= 674,143
HFUHZZ2LA 3K7 ZLAIS 5,000,000 3,461,598 1,538,402
401 Al&HIZ 20| 5,000,000 3,461,598 1,538,402
01 AlEHI 5,000,000 3,461,598 1,538,402
OFFNAHZE2A K7 ZHAY 5,000,000
ZHAE72YE FeXR 58,930 49,500 9,430
HEHE FA 53,430 44,000 9,430
201 Let23| 53,430 44,000 9,430
01 ArR22eltl 53,430 44,000 9,430
OAEA 22 49,430
OTHHH] 21t 20t Ot EH = 4,000
DlAMHA B 5,500 5,500 0
201 L2 | 3,500 3,500
01 At 22|l 3,500 3,500
Ol REg M 3,500
202 04d| 2,000 2,000
01 =W OdbI 2,000 2,000
OfIgAa=2 NS =X 2,000
SURX g=sX& 1,914,729 1,456,229 458,500
s 188,800
& 1,725,929
Sz =K 714,729 456,229 258,500
s 188,800
& 525,929
ENRX 2sX& 55,129 75,629 220,500
201 Let2| 30,129 31,829 A1,700
01 ArR222lt| 24,300 26,000 21,700
OEXRX EE2E8S(EE2 M) 2,700
O=UH2R=E A=l X HOILE S &It 1,200
O 820t & 245 A”s a4 = 7,000
OFXNSA s20|2 AsiH 48 1,600
Oz SHZ 1,000
OEXRA d2E XY UXHSESH) 10,800
02 Z324l 5,829 5,829 0
OXtgfedei] 5,829
202 04dl 12,000 12,000
01 =LHO4 L] 12,000 12,000
O=UW EX: X Kbl 12,000
203 LR =&H| 12,000 12,000 0
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AN A MARASH
L EXSA SN
SR 2sKE (St &)
A2 RA - FE . O9(SH) - HRAY - BAR A e
03 Al F=AHRFAIH| 12,000 12,000 0
OFEXNSA d2FA 12,000
301 LEtBENZ 1,000 1,000
14 JIEtE A3 1,000 1,000
OEXNRX =2HA 1,000
S=d EXNRX =& 18,800 22,000 A3,200
= 3,400
& 15,400
201 Let2HH| 18,800 22,000 A3,200
s 3,400
T 15,400
03 A2 | 18,800 22,000 N3,200
Os=dMig2a & 10,000
OCBfez EXtetE BE 2,000
OHXIMIIE HE & 6,800
= 3,400
& 3,400
H&tA EXRX =X 170,800 138,600 32,200
g 85,400
T 85,400
201 Let2AY| 53,400 67,000 13,600
s 26,700
= 26,700
03 A2 53,400 67,000 A 13,600
OAN2 83823 - 2hét HAISI(ADEX) &t 26,400
Fay 13,200
== 13,200
OasArH HMASE MIOILE 7,000
= 3,500
& 3,500
O=Fet2= 433|104 A
ENEY3 20,000
Fay 10,000
= 10,000
202 04t 80,000 42,000 38,000
= 40,000
& 40,000
03 2P 20l 80,000 42,000 38,000
Odlel EXsX odd| 80,000
g 40,000
T 40,000
301 YEtEXNZ 22,400 14,600 7,800
Fay 11,200
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Il Arga A BEIMARASE
M AHHPIAH(ESIMNRTLH)
ohel: oI 23|
A2 RA - ZB - O9I(S) - HRMY - BAS 0l & A
- 3= 119,052,000 *2H 238,104
= 102,078,000& 35 306,234
-5g 82,776,000 x8H 662,208
— 2Bt 735,171
= 3,486,400& 115+ 123 460,205
= 2,715,200 +6H 122 195,49%
- 83 3,202, 1002« 1+ 12& 38,426
=] 1,710,200&x2Z =128 41,045
Oo&EZxE 54,989
—1H0/&-240| gt
1,702, 0004 #5923 2% 31
—4H0| A5 B
2,240, 0002 +20%*23 x 18 8%
~ 701 4-8E012!
2,830, 000& *35%*22] x 14 1,981
—8EH0l4a-0= 08t
2,448, 00021 »40x251 123 1,95
90l &4-foE 0|2t
2,554, 000 *45%*2 3] x2H 4,598
— 1004t 3,478,000 50%+*23] * 13 45,214
OFSELEs 15,360
- dZ2FHIKZ 15,360
250 &t 130,000 x 1= * 123 1,560
- 2049014 110,000& *3F 122 3,960
1540( & 80,0003 x4H 123 3,840
- 10E01 & 60,0002 5« 123 3,600
- 53014 50,0002 4« 123 2,400
Oz 7,549
-6=(5=UH=R)
3,869,000& 4, 19%+3H x 122 5,711
-73(62UR)
3,734,0002 4 1%+ 1+ 122 1,838
OF) ==E= 25,920
— <A 40,0003 *238 * 12& 11,040
ey P! 20,0002 x10H ~ 122 2,400
—=MAtH 60,0002 10+ 12& 7,200
—AMOoI= Xt 100,000 x2ZH * 123 2,400
- AAEHIS 20,0003 =128+ 123 2,880
OZHARTEE 22 164,400
-3=01& 600,000 x 15+ 12& 7,200
-4=2 500,000&*3H + 122 18,000
—-520I6t 400,000&*29H  12& 139,200
OIS 175,5%6
— A2t 2R 175,5%
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Dl Algla =N BETNRRAAE
Ha: YHSAAY|(BSIHNNRTLE)
ool ol CERED
A= 2N - BB S9(S) - HISAY - BES il v A HlDE2
SEEERT 140, 00021 %33 * 122 55,440
OYE S| 61,264, 2502160025 73,518
OeDHR At 48,054
- =R 2,614, 1837112+ 122 586% 26,979
-5=7 2,042, 142814859 12042 21,075
02 JIEFE B4 585,481 512,563 72,898
OYIIH B2 585,481
-J123 498,888
pEII 16,641, 0002 1% 122 199,692
52AEH(YIINIES)
5,517, 0002 +2% 12 132,408
6L (LIIHT)
4,633, 000213 122 166,788
—iESY 4,800
B 40,0002 +4 * 122 1,920
- RS 20,0002 3% 122 720
- SRS 60, 000212 122 1,440
CEEIS 20,0002 +3% 122 720
~HYEEABE A 4,800
NS 40,0002 1281221 4,800
~NYE RS FHSG IS 6,000
p[EIEE 500,000+ 12+ 124 2 6,000
S EERSS 27,857
— oAl 140, 00021462+ 122 10,080
L BIEI 11,156
LR 18,900
12ALOILE1E)
550, 00021 1%+ 1224 6,600
52 AEH(YIINIES)
250, 0002 %23« 122 6,000
634 (LIIFTS)
175,00021+32* 122 6,300
I 50, 00024 +5% * 124 3,000
204 ML LAY 94,560 %, 180 4,380
CEEEEST 94,560 %, 180 4,380
OFIETES 94,560
-33 500, 00021 %23« 122 12,000
-4z 40,0002 x3% 1224 14,400
-53 250, 00021 +8% 122 24,000
-62 175,00020% 1124122 23,100
-72 165, 00021 %62« 1224 11,880
-83-93 155, 00021 +32 + 122 5,560
-EYRH I 300,000+ 1+ 122 3,600
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1,000
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